1. The following box and whisker plot shows the number of credits that the College of
Engineering students earned based on their gender.
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What is the median number of credits for each gender? Which gender has a higher
median number of credits? (5 pt)
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c. Which gender has a larger range of credits? (5 pt)
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If someone reported the mean as the typical number of credlts would it be valid in this
case? Justify your answer. (5 pt)
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2. The sample space of an experiment consists of a total of eight outcomes: S={1,2,3,4,5,6,7,8}.
The events of X, Y, Z are defined as: X={even numbers}, Y={>5}, Z={3, 7}

( \ a. Draw the Venn diagram of the sample space and the events. Are X, Y, Z are mutually
| | exclusive and collectively exhaustive? Justify your answers. (5 pt)
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Suppose we know that P(XNY)= 1/3 X and Y are independent events; and probabilities of all
even numbered outcomes are equal, in other words, p(2)=p(4)=p(6)=p(8)-

b. Find P(X). (5 pt). g '/ p
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3. In Los Angeles, the weather on a spring day is classified as either cold, cool, or warm. The
probability that it is cold is 0.25, the probability that it is cool is 0.55 and the probability that
it is warm is 0.2. In addition, on cold days the probability that it will rain is 0.1 and on cool
days the probability that it will rain is 0.2 and on warm days the probability that it will rain is

0.3. L B
a. Draw a tree diagram and show the probability with the associated outcomes. (5 pt) ‘**/
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b. Find the probability that it will rain. (5 pt)
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c. Ifit rains, what is the probability that it is either cold or cool? Round the values to two

decimal places if nceded. (5 pt)
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d. Ifitis not raining on a particular day, what is the probability that it is cold? Round the ‘ -

values to two decimal places if needed. (5 pt) .
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4. Suppose the sample space of discrete random variable is {0, 1, 2, 3, 4}. The pmf of the
random variable is p(x)=cx, in other words p(0)=cx0, p(1)=cx1, p(2)=cx2, p(3)=cx3,

4)=cx4. fluneites
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. A certain large shipment comes with a guarantee that it contains no more than 15% defective
items. If the proportion of defective items in the shipment is greater than 15%, the shipment
may be returned. You draw a random sample of 10 items. Let x be the number of defective

items in the sample.
a. Ifin fact 15% of the items in the shipment are defective (so that the shipment is good, but
just barely), what 1s the probability of at least seven defective items in the sample? (5 pt)
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b. Based on the answer to part a, if 15% of the items in the shipment are defective, would 7
defectives in a sample of size 10 be an unusually large number? If you found that 7 of the
10 sample items were defective, would this be convincing evidence that the shipment
should be returned? Explain. (5 pt)
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c. Ifin fact 15% of the items in the shipment are defective, what is the probability of at least
two defectives in the sample? (S pt)
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d. Based on the answer to part ¢, if 15% of the items in the shipment are defective, would 2
defectives in a sample of size 10 be an unusually large number? If you found that 2 of the
10 sample items were defective, would this be convincing evidence that the shipment

should be returned? Explain. (5 pt)
2 s et dr Lml/if“fl“tl lﬂV’ge

Wimber  because the pw ba bt *9
that we fnd ab least 2 dofectiveS in a
q_-';:’-w’)w cire of 10 ‘wwrc' (%% cdrt
jefective s 9,Hes3 >o0l SO Hals
EEEVE o stahs e lly ,,(rﬁ,.‘,ﬁ,/,m.'ﬂ. A
we  can acufp‘* the Wyzpoﬂ\uls Hog 4
2167 o8 Yhe tTteme are e fectuwe

ond 79 Www'@n& WT_

Hae Aewms  Should e e turne d .





{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}



